MathFLIX CHALLENGE

Equations - A Visual Representation

Complete these balance challenges.

1)

b 1T 1T 1 1T b
1211109 8 7 6 5 4 3 2 1 12 3 45 6 7 8 9 101112
This scale balances 5 weights at 3 and 3 weights at 5.

This suggests the multiplicationproblem 5 x 3 =3 x 5.

2)

1t 1 T T 1] 1t 1 1T T 11
1211109 8 7 6 5 4 3 2 1 12 3 45 6 7 8 9 101112
How many weights will it take to balance the scale at 6?7
What multiplication problem does this suggest?

3)

b 1T 1T 1 1T b
1211109 8 7 6 5 4 3 2 1 12 3 45 6 7 8 9 101112
How many weights will it take to balance the scale at 3?

What multiplication problem does this suggest?

4)

=
||||||||||||f§||||||||||||
1211109 8 7 6 5 4 3 2 1 12 3 45 6 7 8 9 101112
How many weights will it take to balance the scale at 2?7
What multiplication problem does this suggest?

5)

1t 1 T T 1] 1t 1 1T T 11
1211109 8 7 6 5 4 3 2 1 12 3 45 6 7 8 9 101112
How can I distribute 7 weights so that they will balance?
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